Date: 21.02.2017



CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING)

No.CWC/CC-Kol/NIQ/Sargachi/2016-17/

NOTICE INVITING QUOTATION

NAME OF WORK: AR & MO works for the year 2016-17 at CW, Sargachi (W.B.)

Sealed percentage rate quotations are invited from the interested contractors who had never been blacklisted / debarred by any of the Govt. Department/ Govt. Organization / Central PSUs/ State PSUs and who will submit an undertaking at "Annexure A" attached at Page No.07 & should have completed similar nature of civil work in Govt. Department / Public Sector Undertaking/ Govt. Construction Agency during last seven years. A list of the completed work is enclosed with filled quotation.

The quotation papers may be had from the office of the EXECUTIVE ENGINEER, CENTRAL WAREHOUSING CORPORATION, New Market Complex, CMC Building(6th floor), 15N,Nellie Sengupta Sarani,Kolkata-700 087 **free of cost** in working hours from 10.00 a.m. to 04.00 p.m. on or before **27.02.2017**

Estimated cost of work is **Rs. 1, 80,413.65**. Earnest money to be deposited amounting to **Rs. 3,700** /- in the form of D.D./ pay order of the schedule Bank in favour of **Executive Engineer, Central Warehousing Corporation, Kolkata** (payable at Kolkata).

The quotationers are requested to quote the rate in schedule of work enclosed at page No.06 and the same quotation duly completed schedule of work under sealed envelope super scribing the name of work shall be submitted to the office of the EXECUTIVE ENGINEER, CENTRAL WAREHOUSING CORPORATION, New Market Complex, CMC Building (6th floor), 15N, Nellie Sengupta Sarani,Kolkata-700 087 up to 15.30 hours on <u>01.03.2017</u> and the same will be opened at 15.30 hrs. on the same day in the presence of quotationers/contractors who may wish to be present at the time of opening.

The quotation papers can also be down loaded from the web site www.cewacor.nic.in and www.tenderhome.com.

The Central Warehousing Corporation reserves the right to accept or reject all/ any part of quotation without assigning any reason there-of.

EXECUTIVE ENGINEER

Copy to:

- 1. The Regional Manager , CWC, RO, Kolkata
- 2. The Sr. Asstt. Manager (A/Cs), CWC, CC, Kolkata.
- 3. The ASW, CWC, CC, Kolkata.
- 4. The Assistant Engineer, CW, Import & Export (W.B.)
- 5. The Warehouse Manager, CW, Sargachi (W.B.)
- 6. Notice Board of CC, Kolkata / CW-Sargachi (W.B.).

CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING) Schedule of Quantity

Name of Work: AR & MO works for the year 2016-17 at CW, Sargachi (WB).

SI No	Description of item	QTY	UNIT	RATE	AMOUNT
1.	Earth work in excavation by mechanical means (Hydraulic excavator) / manual means over areas (exceeding 30cm in depth. 1.5m in width as well as 10 sqm on plan) including disposal of excavated earth, lead up to 50m and lift up to 1.5m, disposed earth to be levelled and neatly dressed. a) All kinds of soil	5.83	Cum	101.85	593.79
2.	Filling available excavated earth (excluding rock) in trenches, plinth, sides of foundations etc. in layers not exceeding 20cm in depth, consolidating each deposited layer by ramming and watering, lead up to 50 m and lift up to 1.5 m.	5.83	Cum	45.70	266.43
3.	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level: a) 1:5:10 (1 cement : 5 coarse sand : 10 graded stone aggregate 40 mm nominal size)	1.21	Cum	2237.75	2707.68
4.	Centering and shuttering including strutting, propping etc. and				
	removal of form for: a) Foundations, footings, bases of columns, etc. for mass concrete.	10.00	Sqm.	119.25	1192.50
	b) Columns, Pillars, Piers, Abutments, Posts and Struts.	7.40	Sqm.	238.40	1764.16
	c) Lintels, beams, plinth beams, girders, bressumers and cantilevers.	42.43	Sqm.	162.65	6901.24
	d) Suspended floors, roofs, landings, balconies and access platform.	61.41	Sqm	187.35	11505.16
5.	Reinforcement for R.C.C. work including straightening, cutting, bending, placing in position and binding all complete. a) Thermo-Mechanically Treated bars.	1164.55	Kg	42.70	49726.29
6.	Providing and laying in position specified grade of reinforced cement concrete excluding the cost of centering, shuttering, finishing and reinforcement - All work up to plinth level: a) 1:1.5:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	1.17	Cum	3732.00	4366.44
7.	Reinforced cement concrete work in walls (any thickness), including attached pilasters, buttresses, plinth and string courses, fillets, columns, pillars, piers, abutments, posts and struts etc. up to floor five level excluding cost of centering, shuttering, finishing and reinforcement: a) 1:1.5:3 (1 cement: 1.5 coarse sand: 3 graded stone aggregate 20 mm nominal size)	0.53	Cum	4092.35	2168.95
8.	Reinforced cement concrete work in beams, suspended floors, roofs having slope up to 15° landings, balconies, shelves, chajjas, lintels, bands, plain window sills, staircases and spiral stair cases up to floor five level excluding the cost of centering, shuttering, finishing and reinforcement with 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size).	10.17	Cum	3673.85	37363.05

SI No	Description of item	QTY	UNIT	RATE	AMOUNT
9.	Brick work with F.P.S. bricks of class designation 75 in foundation and plinth in: Cement mortar 1:6 (1 cement : 6 coarse sand)	3.30	Cum	2121.75	7001.78
10.	Half brick masonry with F.P.S. bricks of class designation 75 in superstructure above plinth level up to floor V level. a) Cement mortar 1:3 (1 cement :3 coarse sand)	14.30	Sqm	322.00	4604.60
11.	Cement concrete flooring 1:2:4 (1 cement: 2 coarse sand: 4 graded stone aggregate) finished with a floating coat of neat cement including cement slurry, but excluding the cost of nosing of steps etc. complete. a) 40mm thick with 20mm nominal size stone aggregate.	52.71	Sqm	192.95	10170.39
12.	Providing and fixing glass strips in joints of terrazzo/ cement concrete floors. a) 40 mm wide and 4 mm thick.	74.40	Mtr.	17.60	1309.44
13.	Providing and fixing ISI marked flush door shutters conforming to IS: 2202 (Part I) non-decorative type, core of block board construction with frame of 1st class hard wood and well matched commercial 3 ply veneering with vertical grains or cross bands and face veneers on both faces of shutters: a) 30 mm thick including ISI marked Stainless Steel butt hinges with necessary screws.	3.52	Sqm	904.40	3183.49
14.	Providing and fixing ISI marked oxidised M.S. sliding door bolts with nuts and screws etc. complete: a) 250x16 mm	2.00	Each	69.65	139.30
15.	Providing and fixing ISI marked oxidised M.S. tower bolt black finish, (Barrel type) with necessary screws etc. complete:				
	a) 250x10 mm	2.00	Each	33.90	67.80
	b) 150x10 mm	2.00	Each	23.40	46.80
16.	Providing and fixing ISI marked oxidised M.S. handles conforming to IS:4992 with necessary screws etc. complete: a) 100 mm	4.00	Each	7.75	31.00
17.	Structural steel work riveted, bolted or welded in built up sections, trusses and framed work, including cutting, hoisting, fixing in position and applying a priming coat of approved steel primer all complete:	98.22	Kg	46.35	4552.50
18.	Renewing glass panes, with putty and nails wherever necessary: a) Float glass panes of thickness 4 mm	3.60	Sqm	427.60	1539.36
19.	2 mm cement plaster of mix : a) 1:6 (1 cement: 6 fine sand)	152.14	Sqm	67.65	10292.27
20.	15 mm cement plaster on the rough side of single or half brick wall of mix: a) 1:6 (1 cement: 6 fine sand)	96.87	Sqm	78.55	7609.14
21.	6 mm cement plaster of mix : a) 1:3 (1 cement: 3 fine sand)	58.33	Sqm	62.15	3625.21
22.	12 mm cement plaster finished with a floating coat of neat cement of mix: a) 1:4 (1 cement: 4 fine sand)	9.95	Sqm	97.90	974.11
23.	Finishing walls with water proofing cement paint of required shade: a) New work (Two or more coats applied @ 3.84 kg/10 sqm).	101.76	Sqm	30.80	3134.21
24.	White washing with lime to give an even shade: a) New work (three or more coats)	186.21	Sqm	6.75	1256.92

SI No	Description of item	QTY	UNIT	RATE	AMOUNT
25.	Painting with synthetic enamel paint of approved brand and manufacture of required colour to give an even shade: a) Two or more coats on new work over an under coat of suitable shade with ordinary paint of approved brand and manufacture.	10.41	Sqm	51.30	534.03
26.	Demolishing brick work manually/ by mechanical means including stacking of serviceable material and disposal of unserviceable material within 50 metres lead as per direction of Engineer-in-charge. a) In cement mortar	0.60	Cum	310.75	186.45
27.	Dismantling old plaster or skirting raking out joints and cleaning the surface for plaster including disposal of rubbish to the dumping ground within 50 metres lead.	189.80	Sqm	8.20	1556.36
28.	Taking out doors, windows and clerestory window shutters (steel or wood) including stacking within 50 metres lead: a) Of area 3 sq. metres and below	2.00	Each	21.40	42.80
Total estimated Cost (From SI. No. 1 to 28)				180413.65	

(Rupees one lakh eighty thousand four hundered thirteen and paisa sixty five only)

CREDIT VALUE

SL	CREDIT ITEM	QUANTITY	UNIT	RATE	AMOUNT
1.	Serviceable bricks	126.00	1000Nos	7500.00	945.00
2.	Brick bats	0.20	Cum	300.00	60.00
		1005.00			

(Rupees one thousands five only)

EXECUTIVE ENGINEER

TERMS & CONDITIONS:

- 1. Works should be executed as per CPWD specifications.
- 2. Water & Electricity will be arranged by the contractor at his own cost.
- 3. All T&P required for the work shall be arranged by the contractor at his own cost.
- 4. The rates are inclusive all lead & lifts etc.
- 5. All taxes Income Tax, Work Tax etc (except service tax) as applicable will be deducted as per Govt. Rule from the contractor bill.
- 6. 10% Security Deposit will be deducted from the gross bill amount & will be released after the defect liability period of six month which will be reckoned from the date of successful completion of the work. In case any defect is found within the defect liability period, the same shall be repaired by the contractor immediately at his own cost.
- 7. Contractor will be fully responsible to labour payments, accident, mishappening, damages & other labour welfare & safety measures.
- 8. Time allowed for completion of work is 30 DAYS but not later than 31.03.2017.
- 9. The above shown quantities are tentative & may vary as per site condition.
- 10. All payments will be released through e-payments by CC, Kolkata.
- 11. Sales Tax or any other tax on material as promulgated by Govt. of India from time to time in respect of this contract shall be payable by the contactor and Central Warehousing Corporation will not entertain any claim whatsoever in this respect.
- 12. The rates quoted are exclusive of Service Tax or any other Tax levied by the Central Government in lieu of Service Tax and the same will be payable by the Corporation over and above the Schedule of Rates.
- 13. In the event of any of the documents found fabricated / forged / tampered / altered / manipulated in the NIQ, then the EMD of the contractor would be forfeited and he would be debarred for participating in CWC tendering for 5 years.
- 14. The voucher for Cement, Paint & steel should be produced while submitting the bills.
- 15. The party to whom the work will be awarded will execute a formal agreement with CWC on a non-judicial stamp paper of appropriate value.
- 16. Cement to be used in the work would be PPC in conformity with the relevant B.I.S codes and should be arranged by the contractors manufactured by major producers.
- 17. The steel for reinforcement shall be arranged by the contractor in conformity with the relevant B.I.S codes
- 18. In the event of failing to execute the work within quoted rate the EMD of contractor would be forfeited & he would be banned for a period participating of 5 years in CWC tender / quotation.
- 19. Credit value will be deducted in one installment.
- 20. Copy of PAN CARD and Service Tax Registration along with quotation / tender document shall be submitted.
- 21. The rate quoted will remain valid for 60 days w.e.f date of opening of bid.



CENTRAL WAREHOUSING CORPORATION (A GOVT. OF INDIA UNDERTAKING)

NAME OF WORK: AR & MO works for the year 2016-17 at CW, Sargachi (W.B.)

Estimated cost from item No.01 to 28 is Rs. 1, 80,413.65 (Rupees one lakh eighty thousand four hundered thirteen and paisa sixty five only)

a) I/We hereby tender our rates as	%
(percent)
<u>ABOVE</u> the rates entered in the schedule of quantities	from item No. 01 to 28.
OR	
b) I/We hereby tender our rates as	%
(percent)
	from itom No. 01 to 28
<u>BELOW</u> the rates entered in the schedule of quantities	s from item No. 01 to 26.
BELOW the rates entered in the schedule of quantities. Note: 1.Quotationers should quote their percentage app	
-	

UNDERTAKING

I/We		(Name c	of Tenderer
with Address)	have been o	doing th	e works for
the Govt. Departments/ Central PSUs/State PSUs for	or the last _		years
and I/We certify that I/We have never been blacklist	ed /debarred	by any	of the Govt.
Department/Central PSUs/State PSUs on account of	any of the de	efault or	our part in
execution of the projects/ works. I/We also undertak	e to mention	that if	at any point
of time it comes to the notice of CWC that the above	e undertakin	g given b	y me /us is
false then CWC will be at liberty to forfeit our EMI	D/ Security	Deposit	and also to
terminate the contract.			

Name of Contractor with address